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General Instructions:

1. The question paper has 35questions in all.

2. Marks are indicated against each question.

3. Questions from serial number 1 to 20 are objective type questions. Each question carries one mark.
Answer them as instructed.

4. Questions from serial number 21 to 28 are 3 marks questions. Answer of these questions should not
exceed 80 words each.

5. Questions from serial number 29 to 34 are 5 marks questions. Answer of these questions should not
exceed 120 words each.

6. Question number 35 is a map question of 6 marks with two parts - 35 a. from History (2marks) and
35b. from Geography (4 marks)

SECTION-A  VERY SHORT ANSWER QUESTIONS.

Match the correct option given in column A with those in column B (1)
1.
A B
A) Lenin 1) Tsar of Russia
B) Nicholas II i1) Leader of Bolshevik Party
C) Stalin iii) Known as the father of Communism
D) Karl Marx 1v) Started Collectivization programme
2. Which one of the following groups was not benefitted by the French Revolution? (1)
A) Peasants B) Worker
C) Nobles D) Artisans
3. Study the picture and answer the question that follows: (1)
1 = SE s | |
Which of the following aspect signifes W this mag? ‘
A) Poster of the infamous film ‘The Eternal Jews’ B)A Nazi party poster
C)The poster announces ‘Money is the God of D)Poster to criticize the outward
Jews’ appearance of Jews.
4. Write any two other names of Swidden agriculture. (1)
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10.

11.

12.

13

14.

15.

16.

17.

18.

A narrow channel of sea which separates two land masses is known as:

A) Gulf B) Pass C) Strait D) Bay

Complete the following table with correct information with regard to latitudinal extension of India
A) Northern most latitude ---------------- N
B) Southern most latitude----------------- N

Write a short note on Purvachal ranges.
OR
What do you understand by Terai region?

Correct the following statement and rewrite:
Robert Mugabe passed the legal Frame Work order.

Werite the full form of SEBC.

Write the proper definition of ‘Rights’.
OR
What is the basic principle of Universal Adult Franchise?

The chief election commissioner of India appointed by the ----------------- of India.
Expand the meaning of ‘Issue Price’.

Identify the pair of the most vulnerable social groups under poverty line from the following:
a)Agriculture Labourers and Urban Casual Labourers

b)Scheduled tribes and Scheduled Castes

c)Agriculture Labourers and Secondary workers

d)Scheduled Castes and Primary workers

Tools, machines, buildings can be used in production over many years are called ---------------
capital.

When we produce a good by exploiting natural resources , it is an activity of the :
a)Secondary sector

b)Tertiary sector

¢) Primary sector

d)Organized sector.

Full form of PMRY i§ -----=-mmmmmmmmmmmmo oo oo
OR
S - is the full form of AAY.

Which one of the following persons is not associated with service sector?
a)Rehman is a postman of Medak Post Office.

b) Dharitri grows cotton as a kharif crop.

c)Christofer has an agency of event management.

d) Seeta is working as a tourist guide.

“I am Bulbul, a daily waged based labour, working at the construction site of ‘Soman Builders and
Developers’ near Park Circus Railway Station. I stay in a tent adjacent to the station area with my
family members. My eighty years old mother in law staying with me is very sick but I can’t
provide her medical facilities as that much money I spend for my three years old son’s milk.
Soman Sir never grants me loan or pays advance for my any emergency need.”
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19.

20.

21.

22.

23.

24.

25.
26.

27.

Who among the following can be considered as poorest of the poor?
1) Bulbul, the daily wage based labour.
2) Soman, the owner of ‘Soman Builders and Developers’.
3) Bulbul’s eighty years old mother in law.
4) Bulbul’s three years old son.

Ration shops are also known as ‘Fair Price Shops’. Give one reason.
Write any two reasons why food security is essential for any nation.
SECTION-B SHORT ANSWER QUESTIONS.

Write any three steps taken by Dietrich Brandis to protect forests in India.
OR
Why did the Europeans regard the practice of Shifting Cultivation as harmful for the forest?

Define the term Genocidal War. Mention any three methods adopted by Hitler for the
establishment of the Racial State in Germany.

Source-based Questions:

23.1: Source A

In 1774, Louis xvi of the Bourbon family ascended the throne. Long years of war had drained the
financial resources of France. Added to this was the cost of maintaining an extravagant court at
the immense palace of Versailles. He helped the thirteen American colonies to gain their
independence from the common enemy, Britain.

23.2: Source B

The members of the Jacobin club belonged mainly to the less prosperous sections of society. They
include small shopkeepers, artisans such as shoemakers, pastry cooks, watchmakers, printers, as
well as servants and daily-wage workers.

23.3: Source C

The colonies in Caribbean-Martinique, Guadeloupe and San Domingo-were important suppliers of
Commodities such as tobacco, indigo, sugar and coffee. But the reluctance of Europeans to go and
work in distant and unfamiliar lands meant a shortage of labour on the plantations.

So, this was met by a triangular slave trade between Europe, Africa and the Americas.

Questions:

23.1: Discuss the main reason for empty treasury of France during the reign of Louis xvi.

23.2: Who were Jacobins?

23.3: Why the slave trade began in Europe in the 17" century?

Describe about advancing monsoon season of India in terms of duration, rainfall conditions and
any one weather phenomenon that occur during this season.

OR
Describe about retreating monsoon of India in terms of duration, rainfall conditions and any one
weather phenomenon that occur during this season.

Evaluate why should we accept the Constitution made by the assembly more than fifty years ago?
Write a short note on ‘Right to Freedom’.

a) Name the two major crops for which Buffer Stock is created and procured.
b) Through which agency government creates Buffer Stock?
¢ ) Explain the procedure of creating Buffer Stock.
OR
Discuss any three problems of the functioning of ration shops.
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28.

29.

30.

31.

32.

33.

34.

35.

“The proportion of poor people is not the same in every state.” Justify the statement by giving (3)
examples of interstate variation of poverty from three different states.

SECTION- C LONG ANSWER QUESTIONS

Explain the impact of World War I and II on the forest areas of India and Java? 5)
OR
Define the term Scientific Forestry. How did the forest Act affect the lives of the villagers?

Read the extract and answer the questions that follows: (&)
These are most widespread forests of India. They spread over the region receiving between 200

cm and 70 cm. Trees of this forest type shed their leaves for about 6 to 8 weeks in dry summer. On

the basis of availability of water, these forests are further divided in to moist and dry deciduous.

The former is found in areas receiving rainfall between 200 cm and 100 cm. These forests exist
north eastern states, foot hills of Himalayas, Jharkhand and on the eastern slopes of western ghats.
30.1-Which type of forests are described in the extract?

30.2-Why do trees in these forests shed their leaves?

30.3-Name any two common trees found in this forest

30.4-Why have these forests been cut on a large scale in recent times?
30.5-Write any two major cause of threat towards forest area.

A) What is migration? What are the two different types of migration? Mention the push and pull (5)
factors of migration ( write any two points for each).
B) What are the significant features of National Population Policy-2000. (any four points)

What are the challenges faced by the Election Commission of India? How can we conduct a free (5)
and fair election?

How is Right to Equality defined in our Constitution? 5)
OR
What are the Fundamental Rights? Why are they important?

Analyse the results of anti-poverty measures emphasizing on the challenges ahead. Discuss any (5)
five points.

MAP SKILL-BASED QUESTION.
A. On the given political map of World, locate and label the following: (2)
Territories under German Expansion:
1)Poland, 2) Lithuania

C) On the outline map of India,locate and label any FOUR of the following with suitable symbols:

1) Aravalli range 4)
2) Wular lake

3) Pulicat lake

4) Kaziranga national park

5) The state having favourable sex-ratio.

6) Any one state having highest density of population.
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